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Mgr. Kázik

Meno________________NÁSOBENIE MOCNÍN - A
Zakrúžkuj správny výsledok príkladu!

1) (−5)3 ⋅ (−5)3

A) (−5)6 B) (−5)3

C) (−5)13 D) (−5)11

2) −2 ⋅ (−2)3

A) (−2)6 B) (−2)11

C) (−2)8 D) (−2)4

3) (−5)6 ⋅ (−5)3

A) (−5)9 B) (−5)3

C) (−5)6 D) (−5)10

4) (−3)5 ⋅ (−3)3
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C) (−3)8 D) (−3)4

5) −2

 

p ⋅ −4

 

p
A) 2

 

p7 B) −4

 

p4

C) −2

 

p2 D) 8

 

p2

6) −2

 

k2 ⋅ −2

 

k4

A) −4

 

k4 B) 2

 

k11

C) 4

 

k6 D) −2

 

k6

7)

 

y ⋅ 

 

x
A) 4

 

x8y3 B) 4

 

y6x7

C) 3

 

y4x7 D)

 

yx

8)

 

u

 

v4

A)

 

v3u3 B) 4

 

u5v4

C)

 

uv4 D) 4

 

u5

9) 3

 

p

 

m3

 

n4 ⋅ −

 

mp

 

n4

A) −12

 

m7p6 B) −3

 

p2m4n8

C) −2

 

m4np2 D) 12

 

m5n2p2

10) −3

 

x4

 

z3 ⋅ −

 

x3

 

y4

 

z3

A) 8

 

z7yx3 B)

 

yz2x5

C) 3

 

x7z6y4 D) 4

 

y4z4x3



©t i290i105W gKyuytzah 8SsoQfStTwpamrJeg gLFL5CA.U q 5ABlvlk 3rciigchitdsD vrie9s5eirFvZeRdm.V l FMGa3dMer Pwbi7tYhS zIdn5f4iRnYiDtleT kAtlRgqefbgr9ax D2j.3 Worksheet by Kuta Software LLC

NÁSOBENIE MOCNÍN - A
1)  A 2)  D 3)  A 4)  C
5)  D 6)  C 7)  D 8)  C
9)  B 10)  C


